
Rallye	
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  de	
  liaison.	
  	
  

	
  

Problème	
  2	
  :	
  Pavage	
  de	
  luxe.	
  	
  

2	
  solutions	
  possibles	
  -­‐>	
  Prix	
  :	
  610	
  euros	
  

	
  

	
  

	
  

Solution	
  1	
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  2	
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Légende	
  :	
  	
  

	
   	
  
	
  Carré	
  de	
  1cm	
  de	
  côté	
  au	
  prix	
  de	
  10	
  euros	
  	
  

	
   	
  
Carré	
  de	
  2cm	
  de	
  côté	
  au	
  prix	
  de	
  25	
  euros	
  	
  

	
   	
  
Carré	
  de	
  3	
  cm	
  de	
  côté	
  au	
  prix	
  de	
  50	
  euros	
  	
  

	
  


